


oh2o] 4z ot S Fud uf, (1) I (2) 9] FS HiEA AZF
]_

(1) sinx = 0.5736, cos35° =yollAl x,y°] gt
(2) AAAZFAA 9 &

e sin cos tan

34° 0.5592 0.8290 0.6745

35° 0,5736 0.8192 0.7002

36° 0.5878 0.8090 0.7265

@ (1) x=34°, y=0.8290 (2) 36.225

@ (1) x=136°, y=0.8142 (2) 34.235

)
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® (1) x=36° y=0.872 (2) 36.215
) x=35° y=0.8192 (2) 40.45
)

® (1) x=36° y=0.802 (2) 36.95
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10. sin90° +cos0° —tan0° = A , sin0° + tan 0° + cos 90° = B = & o,
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® OA=0C
® CN=BM

3 AM = OM

@ AM =BM
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D 1350 cm? @ 1350 V2 cm? ® 1350 V3 cm?

@ 2700 cm? 3B 27002 cm?



18.

o2 132] AABC °|A AH 2] Zo] A

9

@ 25(V3-1) @ 25(3 - V3) ® 25vV3-1
@ 50V3-1 ® 50V3+1



19. of2 387 22 HPAPAFP A LA = 120°, AB = 6em, BC = 8cm
o o, 244 BD 9] ZolE 57

A D

® 2+31cm @ 2433cm ® 2+v35cm
@ 2437cm ® 24/39cm



20. t3 I¥T 22 0ABCD 9 Hols
ko2t




21. the Ty 2ol WA Folrk fem A Uol WSk BEAF
EREELE

AN

AN

D

@ 54cm? @ 54V2cm? ® 543 cm?
@ 55cm? ® 552 cm?



22. T a9 Zo]l 79 ABCDE 7} ¥ O o A5t A =
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tan(A — 15°) = 1 0|4, x> — 2xtan A — 3(tan A)? = 0 2]
TotH? (T 0° <A <90°)

® 3v3, 2V3 @ -3, 3V3 ® 23
@ 243, V3 ® -3, —343

=
m

1
.

fijo



25. o3 Od™oA ¥ O £ AABC 9] YHYoll, ADEF © 215 ¢o|tt.
/DAF = 75°, /ECF = 50° & ©j, /DFE ] 37]& Fa}olg},




